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1 |diEE 1.1E-1 0.1
2 |BHRER 3.3E-2 0.0
3 |EFR 3.5E-2 0.0
4 |EHE 6.9E-2 0.1
5 |FEE 2.6E-2 0.0
6 |ILEE 3.3E-2 0.0
7 |RER 5.9E-2 0.1
8 | &R 1.0E-1 0.1
9 AR 9.3E-2 0.1
10 |HER 7.7E-2 0.1
11 [&HEE 1.6E-1 0.2
12 | FEE 1.2E-1 0.1
13 |ER=Z4B 2 4E-1 0.2
14 [#wZ)e 2.1E-1 0.2
15 |#RE 6.7E-2 0.1
16 |EWE 5.2E-2 0.1
17 [BINE 2.9E-2 0.0
18 |fBHE 2.8E-2 0.0
19 |ILBE 4.1E-2 0.0
20 |RBE 7.4E-2 0.1
21 [IFRR 6.5E-2 0.1
22 |EGER 1.3E-1 0.1
23 |BHMIR 1.9E-1 0.2
24 |ZER 6.4E-2 0.1
25 |HBR 4.7E-2 0.0
26 |GAERAT 5.8E-2 0.1
27 | KBRFAF 3.3E-1 0.3
28 |EER 1.9E-1 0.2
29 |&=RE 3.6E-2 0.0
30 [FIFLE 3.7E-2 0.0
31 |BIE 1.5E-2 0.0
32 | SRR 4.2E-2 0.0
33 |RILE 9.5E-2 0.1
34 |[LBER 9.0E-2 0.1
35 |WOg 4.7E-2 0.0
36 SR 2.1E-2 0.0
37 |BINE 3.3E-2 0.0
38 |ERE 3.9E-2 0.0
39 | =8 2.2E-2 0.0
40 |1ERE 1.2E-1 0.1
41 [EEBR 2.2E-2 0.0
42 | RIBE 3.4E-2 0.0
43 |HEARE 3.8E-2 0.0
44 |RHE 4.3E-2 0.0
45 |BIHE 1.7E-2 0.0
46 |ERBE 3.2E-2 0.0
47 |[HiRE 3.3E-2 0.0
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